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Suppose X1, X2, . . . , Xn is a random sample from N(θ, σ2), where σ2 is assumed known.

1. The power function, Π(θ), for H0 : θ = θ0 versus H1 : θ < θ0 is
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2. The power function, Π(θ), for H0 : θ = θ0 versus H1 : θ > θ0 is
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Note that we have used the fact (
√
n/σ)(x̄ − θ) = Z ∼ N(0, 1). Furthermore, Φ(·) denotes the

cumulative distribution function of N(0, 1).

Suppose X1, X2, . . . , Xn is a random sample from a Bernoulli distribution with parameter p.
Assuming a significance level of α and that X = (X1+X2+ · · ·+Xn)/n has an approximate normal
distribution,

3. The power function, Π(p), for H0 : p = p0 versus H1 : p < p0 is
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where Φ(·) denotes the standard normal distribution function.

4. The power function, Π(p), for H0 : p = p0 versus H1 : p > p0 is
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where Φ(·) denotes the standard normal distribution function.
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